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1. Answer any four from the following questions.     1×4 = 4

Ó¬˘1 õ∂ùü¸˜”˝√√1 ø˚Àfl¡±ÀÚ± ‰¬±ø1È¬±1 Î¬◊M√√1 ø˘‡fl¡º
(a) Define co-prime.

¬Û1¶Û1 Œ˜Ãø˘fl¡ ¸—‡…±1 ¸—:± ø√˚˛fl¡º
(b) When a number is said to be perfect square?

¤È¬± ¸—‡…±fl¡ Œfl¡øÓ¬˚˛± ¬Û”Ì« ¬ı·« ¬ı≈ø˘ Œfl¡±ª± ˝√√˚˛∑
(c) What is 25% of 100?

100 1 25% øfl¡˜±Ú∑
(d) Stage the Pythagoras theorem.

¬Û±˝◊√√Ô±À·±1±Â√1 Î¬◊¬Û¬Û±√… Î¬◊À~‡ fl¡1fl¡º
(e) 12p

4
 = ?

(f) Define speed.

Œ¬ı·1 ¸—:± ø√˚˛fl¡º



2. Answer any six from the following questions.   2×6 = 12

Ó¬˘1 õ∂ùü¸˜”˝√√1 ø˚Àfl¡±ÀÚ± Â√˚˛È¬±1 Î¬◊M√√1 ø˘‡fl¡º
(a) Find the cube root of 1728.

1728 1 ‚Ú˜”˘ øÚÌ«˚˛ fl¡1fl¡º
(b) What is the decimal form of the binary number 11100011

2
?

11100011
2
 ¸—‡…±ÀÈ¬±1 √˙ø˜fl¡ 1+¬Û øfl¡∑

(c) Find the simple interest on Rs. 600 for 5 years at 10% rate.

600 È¬fl¡±1 10% ˝√√±À1 5 ¬ıÂ√11 ¸1˘ ¸≈Ó¬ øfl¡˜±Ú∑
(d) A man buy a pencil box for Rs. 90 and sales it for Rs. 81. Find his loss percent.

¤Ê√Ú ˜±Ú≈À˝√√ 90 È¬fl¡±Ó¬ ¤Î¬±˘ Œ¬Ûø=˘ øfl¡øÚ 81 È¬fl¡±Ó¬ ø¬ıSêœ fl¡À1º ŒÓ¬›“1 Œ˘±fl¡‰¬±Ú1 ˙Ó¬fl¡1± ˝√√±1
øfl¡˜±Ú∑

(e) Express 10m/sec. in km/hr.

10m/sec fl¡ km/hr.Ó¬ õ∂fl¡±˙ fl¡1fl¡º
(f) If x = 3, y = 5, z = –4. Find the value of 4x2y – 10xy2 + zx.

x = 3, y = 5, z = –4. ˝√√íÀ˘ 4x2y – 10xy2 + zx 1 ˜±Ú øfl¡˜±Ú ˝√√í¬ı∑
(g) The edge of a cube is of length 6m. Find the surface area of the cube.

¤È¬± ‚Úfl¡1 fl¡±¯∏1 ∆√‚«… 5 ø˜. ˝√√íÀ˘ ˝◊√√˚˛±1 ¬Û‘á¬fl¡±ø˘ øfl¡˜±Ú ˝√√í¬ı∑
(h) A dice is thrown. Find the probability of getting  a number greater than 4.

¤È¬± ˘≈Î≈¬&øÈ¬ √ø˘›ª± ˝√√í˘º 4 Ó¬Õfl¡ Î¬±„√√1 Ú•§1 ›À˘±ª±1 ¸y±ªÚ± [probabality] Î¬◊ø˘˚˛±›fl¡º



3. Answer any four from the following questions.    4×4 = 16

Ó¬˘1 õ∂ùü¸˜”˝√√1 ø˚Àfl¡±ÀÚ± ‰¬±ø1È¬±1 Î¬◊M√√1 ø˘‡fl¡º
(a) Solve [¸˜±Ò±Ú fl¡1fl¡] 3x2 + 10 = 11x.

(b) If np
4
 = 20 × np

2
 find n.

If np
4
 = 20 × np

2
. n 1 ˜±Ú øÚÌ«˚˛ fl¡1fl¡º

(c) A sum of Rs. 500 was lent out at simple interest and at the end of 1 year 8 months the

total amount was Rs. 600. Find the rate of interest.

¸1˘ ̧ ≈Ó¬Ó¬ 500 È¬fl¡± Ò±1Õ˘ ø√ 1 ¬ıÂ√1 8 ̃ ±˝√√1 ’ôLÓ¬ ̃ ≈Í¬ 600 È¬fl¡± ‚”1±˝◊√√ ¬Û±À˘ ̧ ≈Ó¬1 ̋ √√±1 øfl¡˜±Ú ’±øÂ√˘∑
(d) Hari took 20 minutes to walk 3km. If Ravi is 20% faster than Hari how much time will

be take to cover the same distance?

˝√√ø1À˚˛ 3 øfl¡. ø˜. 20 ø˜øÚÈ¬Ó¬ ’øÓ¬Sê˜ fl¡À1º ˚ø√ 1ø¬ıÀ˚˛ ˝√√ø1Ó¬Õfl¡ 20 ˙Ó¬±—˙ Œ¬ıøÂ√ Œ¬ı·œ ˝√√˚˛ ŒÓ¬ÀôL ŒÓ¬›“
øfl¡˜±Ú ¸˜˚˛Ó¬ 3 øfl¡. ø˜. ’øÓ¬Sê˜ fl¡ø1¬ı∑

(e) How many 4-letter words, with or without meaning can be formed out of the letters of

the word LOGARITHMS is repetition of letters is not allowd?

LOGARITHMS ˙sÀÈ¬± ’±‡1À¬ı±1 ¬ı…ª˝√√±1 fl¡ø1 ’±1n∏ Œfl¡±ÀÚ±ÀÈ¬± ’±‡1 ≈√¬ı±1 ¬ı…ª˝√√±1 Úfl¡1±Õfl¡ ‰¬±ø1È¬±
’±‡11 ˙s øfl¡˜±Ú ¬Û±¬ı ¬Û±ø1∑

(f) Simplify [¸1˘ fl¡1fl¡]
x(x + y2 + z) + y2 (x + y + z)–z (x + y2) If x = 3, y = 7, z = 3 find the value of the

expression.

(x=3, y=7, z=3 ˝√√íÀ˘ ˜±Ú øÚÌ«˚˛ fl¡1fl¡]



4. Answer any two from the following questions.   5×2 = 10

Ó¬˘1 õ∂ùü¸˜”˝√√1 ø˚Àfl¡±ÀÚ± ≈√È¬±1 Î¬◊M√√1 ø˘‡fl¡º
(a) Solve [¸˜±Ò±Ú fl¡1fl¡]

6x + 5y = 11

9x + 10y = 21

(b) Find the area of the triangle ABC if the sides are 5 cm, 6cm and 7cm.

¤È¬± øSˆ¬”Ê√ ABC 1 ¬ı±U1 ∆√‚«… SêÀ˜ 5 ŒÂ√. ø˜. 6 ŒÂ√. ø˜., 7 ŒÂ√. ø˜. ˝√√íÀ˘ ABC 1 fl¡±ø˘ øÚÌ«˚˛ fl¡1fl¡º
(c) When two events are said to be mutually exclusive. Two dice are thrown. Find the

probability that a total 8 occurs.

≈√È¬± ˘≈Î≈¬ &øÈ¬ √ø˘˚˛±À˘ ≈√À˚˛±È¬±˝◊√√ Œ√‡≈›ª± Ú•§11 ¸˜ø©Ü  8 Œ˝√√±ª±1 ¸y±øªÓ¬± øfl¡˜±Ú∑



5. Answer any one from the following questions.     8×1 = 8

Ó¬˘1 õ∂ùü¸˜”˝√√1 ø˚Àfl¡±ÀÚ± ¤È¬±1 Î¬◊M√√1 ø˘‡fl¡º
(a) What is a histogram? Draw a histogram from the data given below

Weight (in kg) Number of students

›Ê√Ú [øfl¡À˘±¢∂±˜Ó¬] [Â√±S-Â√±Sœ1 ¸—‡…±]
10.5 - 15.5 10

15.5 - 20.5   8

20.5 - 25.5 20

25.5 - 30.5   5

30.5 - 35.5   2

35.5 - 40.5   4

            49

ø˝√√©Ü¢∂±˜ øfl¡∑ ›¬Û1Ó¬ ø√˚˛± Ó¬±ø˘fl¡±‡Ú1 Ó¬Ô…1 ¬ı…ª˝√√±1 fl¡ø1 ¤È¬± ø˝√√©Ü¢∂±˜ ’±“fl¡fl¡º
(b) A cylindrical vessel open at the top has a base diameter 21 cm and height 14 cm. Find

the cost of lin-plating its inner part at the rate of Rs. 8 per 100 cm2.

›¬Û11 Ù¬±À˘ Œ‡±˘± Œ¬ı˘≈Ú ’±fl‘¡øÓ¬1 ¬Û±S ¤È¬±1 ̂ ¬”ø˜1 ¬ı…±¸ 21 ŒÂ√. ø˜. ’±1n∏ Î¬◊2‰¬Ó¬± 14 ŒÂ√. ø˜.º ̊ ø√ õ∂øÓ¬
¬ı·« ŒÂ√. ø˜. Œõ≠øÈ¬— fl¡ø1¬ıÕ˘ 8 È¬fl¡± ‡1Â√ ˝√√˚˛, ŒÓ¬ÀôL ¬Û±SÀÈ¬±1 øˆ¬Ó¬1ø‡øÚ Œõ≠øÈ¬— fl¡À1“±ÀÓ¬ ˜≈Í¬ ‡1Â√ øfl¡˜±Ú
˝√√í¬ı∑


